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BCA 20 04——OPERATIONS RESEARCH

(2019 Admlssxons) R
'.’I_‘ime': Two Hours . S , Maximum : 60 Marks
“ C Sectmn A (Short Answer Type Questmnss |

Answer all the questions."
- Each questwn carries maximum of 2 marks
: 7 Cetlmg 20 ma.rks C
. 1 Wnte any two apphcatlons of OR 7 L
2. What do you mean by an ob_]ectxve functwn of an LPP 2
; 3. What are the basm assumptxons ofa LPP? |
4 What do you mean' by an artificial vanable ?
" '5. What do you mean by basic feas:ble solutlon of a Transportatlon problam ?
6. What are Assxgnment problems ? | |
7; Define- Travelhng salesman problem
8. What do you mean by Degeneracy ina TP ? ?
9 What is network ana1y31s ? | |
.10. 'What is meant by a Critical path ? Why should we know which. actlwtles are cnt1cal ?
| 11 ' What is dummy activity ? ? ) |
12, Distinguish between ‘Slack’ and ‘float’. ’
. o | -(Ceﬂing' : 20 marks)
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Sectmn B (Short Essay Type Questmns)

Answer all the questwns
Each questwn carries 5 marks
Cetlmg 30 marks

‘_-"_13 Whatarethehmltatmns ofOR" 4' o . ‘
14, Solve Graphlcally o " ' '

Maxumze =32y + Sx,
" subjected to’: x; + 2x2 < ..2,0(}'0.
| gy im < 1,500 -
l‘:cz < 600

L.‘?C],xzz l_ 0. s

o 15. - A manafacturer of furniture makes two products, chairs and tables. Proce'ssihg of these products is

" done on two machines A and B. A chair requires 2 hours on machine A and 6 hours on machine B. -
A table requires 5 hours on machine and no tixﬁe on machine B. There are 16 hours of time per day
avaﬂable on machlne A and 30 hours on machine B. Profit galned by the manufacturer from a

o chair is Re 1 and from a table is Rs 5 respectwely Formulate the problem into a LPP in order to

;maxumse the total profit ?

16.. '- Find the initial solution of the following TP by using Lowest_ cost entry method :

- Dy o D, - Dg Supply
0, - 2 7 4 5
o, | 3 3 1 | 8
O, 5 4 T 7
0y ‘1 | 6 2 14
"Demand | 7T 9 18 ‘
17. Find the 0pt1ma1 solution to the followmg A531gnment prob]em showing the cost for asmgnmg -
workers to jobs : : '
x ¥y oz
18 17 16

 Workers |15 13 14/,
119 20. 21




18. Draw a network diagram to the following set of activities :

i

o Aétivities'_ | - Proceeding activities

¥

A

bl = ‘tij Ulo|w

~HandI

" Handl1

Zliglr|®R|«

dJ, Kan_dL

" 19. Distinguish between PERT and CPM.

Section C (Essay Type Questions)

* Answer any one question.
Each question carries 10 marks.

20. Solve the fdllowing LPP by using Two-phase simplex method :

Maximize Z = Sxy + 8xg
- subjected to 3x; 4+ 2152 3

X+ 4,24

Xy + Xy D12y, 29 20

. C 82409

(Ceiling : 30 fnarks)
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- 21. Solve the following minimal assignment problems :

q

I

o

- Cs209

(1x10=10 marks)




